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LCM & HCF SOLUTION

1. (c) LCM (y- l-) × HCF (e- l-) = Ist

number (igyh la[;k) × IInd number (nwljh

la[;k) or

Product of number (la[;kvksa dk xq.kuiQy)

= HCF (e- l-) × LCM (y- l-)
  LCM = 864
   HCF = 144
one number x = 288

one number be y (ekuk dh vU; la[;k y gS)

xy = LCM × HCF

 288 × y = 864 × 144

y = 
864×144

288
 = 432

Other no. will be 432 (vU; la[;k 432 gksxh)
2. (c) LCM = 225

HCF = 5

one number (igyh la[;k) = 25

 Let other number be y (ekuk dh vU; la[;k

y gS)

25 × y = 255 × 5

y = 
225 × 5

25
 = 45

 another no. is 45 (vU; la[;k 45 gS)
3. (c) LCM = 30

HCF = 5 (given)

One number (igyh la[;k) = 10

Let another number (ekuk dh vU; la[;k) =
y
10y = 30 × 5
     y = 15

4. (b) HCF = 13
LCM = 455

 Let numbers be 13x & 13y (ekuk dh la[;k,¡

13x & 13y)
 LCM = 13 x y

  LCM = HCF × Product of other factor

(vU; xq.kkd dk xq.kuiQy)
13x y = 455

x y = 
455
13

 = 35

 x y = 35

Possible co-prime Factors of x, y

(lEHkkfor vlgHkkT; xq.kd) (35,1), (5,7)

numbers may be (lEHkkfor la[;k,¡)
  35 × 13, 1 × 13 = (455, 13)
or
  5 × 13, 7 × 13 = (65, 91)
 But it is given that one number lies
between (75 & 125) so. (ysfdu ;g fn;k x;k gS

fd ,d la[;k 75 vkSj 125 ds chp esa gS)
  numbers are (65, 91) and number
between 75 & 125 is 91.

(65] 91) la[;k,¡ gSa] (75 vkSj 125 ds chp dh la[;k

91 gS)
5. (c) LCM of (4, 6, 8, 12, 16)

 16 × 3 = 48
The number when divided by (4, 6, 8,
12, 16) leaves remender 2 is

(og la[;k ftls 4] 6] 8] 12] 16 ls Hkkx nsus ij nks 'ks"k

cprk gks) = 48 + 2 = 50
6. (d) LCM of (12, 15, 20, 54)

 4 × 3 × 5 × 9 = 540
The required number is (vHkh"V la[;k) 540
+ 4 = 544
Because when divided by LCM each is
divided completely. By adding 4 in LCM
leaves remainder 4.

(D;ksafd y-l- dks foHkkftr djus ij lHkh la[;kvksa ls

iw.kZr% foHkkftr gks tkrh gSA ysfdu y-l- esa 4 tksM+ nsus

ij 4 'ks"k cprk gS)
7. (a) 1001 pens, 910 pencils (given)

HCF of 1001, 910 is = 91

 maximum no. of students are (Nk=kksa dh vf/

dre la[;k) = 91
8. (a) LCM of 4, 6, 8, 14 = 168 seconds

4, 6, 8, 14
2, 3, 4,  7
1, 3, 2,  7

2
2

LCM = 3 × 2 × 7 × 2 × 2 = 168 seconds

= 
168
60

 = 2
48
60

 = 2 minute 48 seconds

 Ist they start ringing at 12.00 o clock
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(igyh ckj os ,d lkFk 12 cts ctuk 'kq: djsaxh)
again they ring all together after 2
minutes 48 second at 12 hrs.

2 min. 48 second (os iqu% ,d lkFk 2 feuV ds

ckn 12 % 2 % 48 ij ctsaxh)
9. (d) LCM × HCF = 24

 Product of number (la[;kvksa dk xq.kuiQy)
= 24
Let no. be = x, y
x y = 24
and x – y = 2 (given)
Factors of x y = 24 are (4, 6) (12, 2) (8, 3)
(24, 1)
Now difference between numbers be

(la[;kvksa dk vUrj) = (x – y) = 2

So, factor is (xq.kd) (4, 6)
10. (a) LCM = 495

HCF = 5 (given)

 Let numbers are (ekuk fd la[;k,¡)
= 5x & 5y
 LCM = 5 x y
5 x y = 495
x y = 99

 possible co-prime factors are

(lEHkkfor vlgHkkT; xq.kd) 
1, 99

9, 11
 
 
 

 possible numbers are (lEHkkfor la[;k,¡

gSa)

5x, 5y = 
45, 55

5, 495
 
 
 

Now given that sum of numbers (la[;kvksa

dk ;ksx fn;k x;k gS) = 100

so, required numbers are (vHkh"V la[;k,¡)
= (45, 55)

 difference of numbers (la[;kvksa dk vUrj)
= 55 – 45 = 10

11. (b) HCF = 29
 Let numbers are (ekuk fd la[;k,¡) 29x,
29y
LCM = 29xy
 LCM = 4147 (given)
 29xy = 4147

xy = 
4147
29

 = 143

possible co-prime factors (lEHkkfor vlgHkkT;

xq.kd) = 
1, 143

11, 13
 
  

 possible numbers are (lEHkkfor la[;k,¡)
= (29, 4147), (319, 377)
But both numbers are greater than 29

(ysfdu nksuksa la[;k,¡ 29 ls cM+h gS) (given)

 Numbers are (la[;k,¡ gSa) (319, 377)

 Sum of numbers (la[;kvksa dk ;ksx)
= 319 + 377 = 696

12. (d) HCF = 8
 Now, LCM should have a factor 8.
(vc y-l- dk ,d xq.kkd 8 gksuk pkfg,)
So, check also the option we have only
60 which does not hava a factor 8. So, it
will never be the LCM.

(vc fodYiksa dks ns[ksa dsoy 60 dk xq.kkad 8 ugha gS]

blfy, ;g y-l- ugha gks ldrk gS)
13. (a) Numbers, x = 28, y = 42

HCF (28, 42)
 difference = 42  – 28 = 14
 For HCF of any numbers take their
difference. HCF will be either the factor
of that difference or the difference itself.

(fdlh Hkh la[;k ds e-l- ds fy, mu la[;kvksa dk

vUrj ysaA e-l- ;k rks bl vUrj dk xq.kkad gksxk ;k

vUrj gh e-l- gksxk)
Now,
LCM of 28, 42
 14 × 2 × 3 = 84
 LCM : HCF

84 : 14
6 : 1

14. (c) LCM = 1820
HCF = 26
Ist number = 130
 LCM × HCF = Product of numbers
(la[;kvksa dk xq.kuiQy)
 Let the other number is x
(ekuk fd vU; la[;k x gS)
 130 × x = 1820 × 26

x = 
1820 × 26

130
 = 364

15. (b) LCM = 1920
HCF = 16
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Ist number = 128

Let IInd number (ekuk fd nwljh la[;k) = x
x × 128 = 1920 × 16

x = 
1920 ×16

128
 = 240

x = 240
16. (a) HCF = 478

Numbers are = 12906 and 14818
 LCM × HCF = 12906 × 14818
LCM × 478 = 12906 × 14818
LCM = 400086

17. (c) LCM (3, 5, 8, 12) 3 × 5 × 8 × 3 = 120
 Now greatest five digit number is
99999

(ik¡p vadksa dh vf/dre la[;k 99999 gS)
on dividing 99999 by = 120 (LCM) we get
remainder–

(99999 dks 120 ls Hkkx nsus ij 'ks"kiQy gksxk)

= 
99999
120

 By subtracting remainder from 99999
we get the greatest five digit number
which is completely divisible by given
numbers (3, 5, 8, 12).

(99999 esa ls 'ks"kiQy dks ?kVk nsus ij gesa ik¡p vadksa

dh og vf/dre la[;k izkIr gksrh gS] tks 3] 5] 8 rFkk

12 ls foHkkftr gS)
 99999 – 39 = 99960
 Now, we required the greatest five
digit number which when divided by (3,
5, 8, 12) leaves remainder 2 in each

case.(vc gesa ik¡p vadksa dh og vf/dre la[;k

Kkr djuh gSA ftls 3] 5] 8] 12 ls Hkkx nsus ij izR;sd

fLFkfr esa 2 'ks"k cprk gks)
  add 2 in the 99960 (99960 esa 2 tksM+us ij

gesa ;g la[;k izkIr gksxh)
99960 + 2 = 99962

18. (c) LCM (4, 5, 6, 7, 8)
= 4 × 5 × 6 × 7 = 840
 required number (vHkh"V la[;k)

= 840k + 2, which is divisible by 13. (tks

13 ls foHkkftr gS)

For 
840k + 2

13
, (remainder = 0)

Remainder = 
840k + 2

13

Put k = 3
Than, remainder = 0
for least multiple value of k is minimum

(U;wure gksxk)
 at k = 3 we get 840 k + 2
    = 840 × 3 + 2
    = 2520 + 2 = 2522

19. (b) LCM (15, 18, 21, 24)
 5 × 3 × 6 × 7 × 4 = 2520
 In such type of questions,
we take the difference between given
number and remainder of that number.

(bl izdkj ds iz'uksa esa ge nh la[;kvksa dk vUrj rFkk

'ks"kiQy ysaxsa)
Number Remainder

(15 – 11) = 4
(18 – 14) = 4
(21 – 17) = 4
(24 – 20) = 4

It will be
same always 

Now: Largest 4 digit number is 9999 (pkj

vadksa dh vf/dre la[;k 9999 gS)
 On dividing 9999 by LCM (2520)
we get remainder  2439 (9999 dks y-l-

2520 ls foHkkftr djus ij 2439 'ks"kiQy cprk gS)
Subtract remainder from 9999 we get
largest 4 digit number, which is divisible
by given number

= 9999 – 2439 = 7560 (9999 esa ls 'ks"kiQy

?kVkus ij gesa pkj vadksa dh og vf/dre la[;k izkIr

gksxh tks nh xbZ la[;kvksa ls iw.kZr% foHkkftr gSA)
But required no. gives difference on
dividing
so,

our required number (vHkh"V la[;k)
= 7560 – 4 (difference) = 7556

20. (d) LCM (30, 60, 90, 105)
15 × 2 × 2 × 3 × 7 = 1260 minutes

1260
60

 = 21 hours

(they ring simultaneously after every 21

hours (os izR;sd 21 ?k.Vs ds ckn ,d lkFk ctsaxh)
They ring at 12 noon. So they again ring

at 9 am (os ,d lkFk 12%00 nksigj cth Fkh] blfy,
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os iqu% ,d lkFk 9%00 cts jkr dks ctsaxh)
21. (a) LCM (5, 6, 8, 9) = 5 × 6 × 4 × 3

= 360 seconds

= 
360
60

 = 6 minutes

 Bells will ring simultaneously.
after every 6 minutes. (?kafV;k¡ izR;sd 6 feuV

ds ckn ,d lkFk ctsaxhA)
22. (c) 989 – 5 = 984

1327 – 7 = 1320
(Subtract the remainder from the

number. (la[;k esa ls 'ks"kiQy dks ?kVkus ij)
HCF = (984, 1320) = 24
for greatest number take HCF of the

numbers (vf/dre la[;k ds fy, la[;kvksa dk e-

l- ysa)
23. (c) 75 litres, 45 litres

For maximum capacity take HCF

(vf/dre {kerk ds fy, e-l- ysa) (75, 45) = 15

24. (a) Let numbers be (ekuk fd la[;k,¡)
= x, y
x : y = 3 : 4 (given)
HCF = 4
Numbers are = x = 4 × 3 = 12

  y = 4 × 4 = 16
LCM (12, 16) = 4 × 3 × 4 = 48

25. (a) 18 – 7 = 11
21 – 10 = 11
24 – 13 = 11

take LCM (18, 21, 24) 9 × 2 × 7 × 4 =
504
 required number = (504k – 11)
which is divided by 23.

For 
504k–11

23
,

Remainder should be zero ('ks"kiQy 'kwU; gksuk

pkfg,)
Put minimum value of k so that it
completly divides 23.
 at k = 6, 504k – 11 = 3013
completly divisible by 23. (23 ls iw.kZr%

foHkkftr gSA)
required number is (vHkh"V la[;k) = 3013.

26. (b) HCF = 16
LCM = 160
Ist number = 32

Let IInd number = x
Product of number = LCM × HCF
 32 × x = 16 × 160

x = 
16 ×160

32
  = 80

27. (b) HCF = 37
 Let the no. are (ekuk fd la[;k,¡)
= 37x & 37y
given, 37x × 37y = 4107
= xy = 3

possible factors of x y (xy ds laHkkfor xq.kd)
= (1, 3)
 number are (37, 37 × 3) = (37, 111)

greater number is (cM+h la[;k) = 111
28. (c) LCM of (21, 36, 66)

= 21 × 12 × 11
= 7 × 3 × 4 × 3 × 11
= 7 × 3 × 2 × 2 × 3 × 11
for perfect square multiply by 7 × 11

(iw.kZ oxZ ds fy, 7 × 11 ls xq.kk djsa)

So that pairs of number from perfect
square

(vr% iw.kZ oxZ ls la[;kvksa ds tksM+s)
7 × 7 × 3 × 3 × 2 × 2 × 11 × 11

required result is (vHkh"V ifj.kke)
 213444
(which is perfect square (tks ,d iw.kZ oxZ gS)

29. (a) 4 – 1 = 3
5 – 2 = 3
6 – 3 = 3
LCM (4, 5, 6) = 4 × 5 × 3 = 60
required number is (vHkh"V la[;k)
60 – 3 = 57

30. (b) LCM (4, 6, 10, 15)
LCM = 2 × 2 × 3 × 5 = 60
least number of six digit

(6 vadksa dh U;wure la[;k) = 100000
divide 100000 by 60 we get remainder

40 (100000 dks 60 ls Hkkx nsus ij 'ks"kiQy 40 izkIr

gksrk gS)
least six digit number which is divisible

is (6 vadksa dh U;wure la[;k tks 4] 6] 10] 15 ls

foHkkftr gS)
= (100000 + (60 – 40)) = 100020
N 100020 + 2 = 100022

Sum of digits (vadksa dk ;ksx)
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= 1 + 0 + 0 + 0 + 2 + 2 = 5
31. (b) LCM (12, 18, 21, 30)

4 × 3 × 6 × 7 × = 2520

So, required number (vHkh"V la[;k)

= 
2520

2
 = 1260

32. (c) LCM (10, 16, 24)
= 5 × 2 × 8 × 3 = 240
 for square no. split the LCM into its
factors (oxZ la[;k ds fy, y-l- dks xq.ku[kaMksa esa

fy[ksa)
= 5 × 2 × 2 × 2 × 2 × 3

= 5 × 5 × 2 × 2 × 2 × 2 × 3 × 3 

= 36000

33. (c) Distance (nwjh) = 5 km

Speed of A (A dh xfr) = 2
1
2

 km/hr

Time taken by A (A ds }kjk fy;k x;k le;)

= 
5
5

× 2 = 2 hours

 Speed of B (B dh xfr) = 3 km/hr

Time taken by B (B ds }kjk fy;k x;k le;) =

5
3

 hours

 Speed of C (C dh xfr) = 2 km/hour

 Time taken by C (C ds }kjk fy;k x;k le;)

= 
5
2
 ?k.Vs

5
LCM of numerator 5 55= , ,
HCF of denomintor 2 3 2

= 
10 5 5

, ,
5 3 2

LCM = 
10
1

= 10

They will meet again after 10 hours (os

iqu% 10 ?k.Vs ckn feysaxh)

34. (d) Required no. of tiles are (Vkbyks dh vHkh"V

la[;k) = 
area of floor
area of tiles

Sides of tiles is HCF (1517, 902) = 41
 area of tiles (VkbYl dk {ks=kiQy) = 41 × 41

No. of tiles (VkbYl dh la[;k)

= 
1517 × 902

41 × 41
 = 814

35. (c) Let numbers are A & B respectively (ekuk

fd la[;k,¡ Øe'k% A rFkk B gSaA)

A : B
2x : 3x (given)

LCM = 2 × 3 × x = 6x
According to the questions,
6x = 54
x = 9
A = 2x = 2 × 9 = 18
B = 3x = 3 × 9 = 27
sum of numbers (la[;kvksa dk ;ksx)
= A + B = 18 + 27 = 45
(3x + 2x) = 5x = 5 × 9 = 45

36. (c) Let numbers are A & B

respectively (ekuk fd la[;k,¡ Øe'k% A rFkk B

gSaA)

A : B
4x : 5x (given)

 LCM = 4 × 5 × x = 20x
20x = 120
x = 6
 A = 4x = 4 × 6 = 24
B = 5x = 5 × 6 = 30

37. (c) Let numbers are a, b, c (ekuk fd la[;k,¡

Øe'k% a, b, rFkk c gSaA)

= a, b, c are co-prime numbers

(vlgHkkT; la[;k)

HCF of co-prime numbers (vlgHkkT; la[;kvksa

dk e-l-) = 1
HCF (a, b, c) = 1
a × b = 551, b × c = 1073


a×b 1073 37×29

= =
b×c 551 19×29


a 37

=
c 19

 common 'b' factor is cancel out.
a = 37, b = 29 c = 19
 Sum of numbers (la[;kvksa dk ;ksx)
= a + b + c = 37 + 29 + 19 = 85
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38. (c) HCF of numbers (la[;kvksa dk e-l-) = 7
Let the numbers are 7x and 7y

(ekuk fd la[;k,¡ 7x rFkk 7y gSaA)

LCM = 7xy
7xy = 140
xy = 20
 possible co-prime factors of xy
(xy ds laHkkfor vlgHkkT; xq.kd)
= (1, 20), (4, 5)
 numbers are between 20 and 45
(la[;k,a 20 rFkk 45 ds chp esa gSaA)
 Required numbers are
= 4 × 7 = 28 and 5 × 7 = 35
 sum of numbers are = 28 + 35 = 63

39. (b) HCF = 15
LCM = 300
1st number = 60

Let 2nd number (ekuk fd nwljh la[;k) = x
HCF × LCM = 1st number × 2nd number
15 × 300 = 60 × x
x = 75
 Other number (vU; la[;k) = 75

40. (d) HCF = 23
 Let numbers are (ekuk fd la[;k,¡)
= 23x, 23y
 LCM = 23xy

 Now given that factor of LCM

are 13, 14 (fn;k x;k gS fd y-l- ds xq.kt 13 rFkk

14 gSaA)
LCM = 23 × 13 × 14
numbers are = 23 × 13

= 299 and 23 × 14
= 322

larger = 322
41. (b) LCM (6, 8, 10) = 3 × 2 × 4 × 5 = 120
42. (b) LCM (4, 6, 8, 9) = 2 × 2 × 3 × 2 × 3 = 72

Required result should be (vHkh"V mÙkj)
= 72

43. (b) LCM (3, 4. 5, 6, 7, 8)
3 × 4 × 5 × 7 × 2 = 840
 divide 10000 by LCM


10000

840
, we get remainder = 760

Now two possibilities are (vc nks laHkkouk,¡

bl izdkj gSa) = 10000 – 760 = 9240
or 10000 + (840 – 760) = 10080

So, nearest number is (vr% fudVre la[;k)
= 10080

44. (a) 1305, 4665, 6905 are three numbers
greatest number which leaves same
remainder in each case. To find this take
difference of numbers

(1305] 4665] 6905 rhu la[;k,¡ gSaA izR;sd fLFkfr esa

cjkcj 'ks"kiQy nsus okyh vf/dre la[;k Kkr djus ds

fy, nh xbZ la[;kvksa dk varj fudkysa)



1305 4665 6905
–3360 –2240 

–1120

1120 is the no. which leaves the same
remainder when divide 130, 4665, 6905
Sum of number digit (la[;k ds vadksa dk

;ksx) 1 + 1 + 2 + 0 = 4
45. (c) HCF = 4

Let numbers are 4x and 4y (ekuk fd

la[;k,¡ 4x rFkk 4y gSaA)

given sum = 4x + 4y = 36 and x + y = 9

possible pairs (laHkkfor tksM+s)  (1 + 8), (2
+7), (4+5), numbers should be coprime.

Hence only 3 pairs (vlgHkkT; la[;k,¡ gksuh

pkfg,A vr% dsoy 3 tksMs+ gh laHko gSaA)

46. (d) 122 – 2 = 120 subtract difference

243 – 3 = 240 from number
 
  

HCF = (120, 240) = 120
answer = 120

47. (d) HCF = 16
Let numbers are 16x and 16y (ekuk fd

la[;k,¡ 16x rFkk 16y gSaA)
16xy = 480
xy = 30
possible pairs (laHkkfor tksM+s)
= (1, 30), (2, 15), (6, 5)

possible numbers are (laHkkfor la[;k,¡)
= (16, 480), (32, 240), (80, 96)
80, 96 is the answer in the given
options of 2 digit.

48. (b) 12 – 5 = 7
16 – 9 = 7
Remainder always remains same in

such questions, (bl izdkj ds iz'uksa esa 'ks"kiQy

ges'kk cjkcj gksrk gSA)
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LCM (12, 16) = 48
Required result = 48 – 7 = 41

49. (c) 10 – 9 = 1
9 – 8 = 1
LCM (10, 9, 8) = 5 × 2 × 9 × 4 = 360
required result = 360 – 1 = 359

50. (d) LCM (5, 6, 8) = 5 × 6 × 4 = 120
 Required number gives remainder
3 when divided by (5, 6, 8) and zero
remainder when divided by 9

(vHkh"V la[;k esa 5] 6] 8 ls Hkkx nsus ij 3 'ks"k cprk

gS rFkk 9 ls Hkkx nsus ij 0 'ks"k cprk gS)


120K+3 3K+3

9 9


at k = 2, 
3K+3

9
 Remainder = 0

we get 120K + 3 = 120 × 2 + 3 = 243 which
is the required number.

51. (b) LCM (3, 5, 6, 8, 10, 12)
= 3 × 5 × 2 × 4 = 120

Required number is (vHkh"V la[;k)

= 
120K+2 10K+2

=
22 22

at k = 2,
10K+2

22
  Remainder = 0

The given condition satisties
= 240K + 2 = 240 + 2 = 242

52. (a) 307 – 3 = 304
330 – 7 = 323
 HCF (304, 323)

304 323
–19 

HCF = 19

The greatest no. is (vf/dre la[;k) = 19
53. (d) Let HCF = x

LCM = 84x
given HCF + LCM = 84x + x = 680
85x = 680
x = 8
HCF = 8
LCM = 84 × 8 = 672
 56 × y = 672 × 8

y = 
672×8

56
 = 96

54. (d) Let HCF = x

LCM = 20x
sum of HCF + LCM = 2520
= x + 20x = 2520
21x = 2520
x = 120
HCF = 120
LCM = 120 × 20 = 2400
one number = 480

Let another number (ekuk fd vU; la[;k) =
y
y × 480 = 120 × 2400

y = 
120×2400

480
 = 600

55. (b) LCM (12, 15, 18, 27)
 4 × 3 × 5 × 3 × 3 = 540
 largest 4 digit number (4 vadksa dh vf/

dre la[;k) = 9999

vadksa dh vf/dre la[;k esa 540 ls Hkkx nsus ij

'ks"kiQy gksxk)

= 
9999
540

remainder is = 279
required number = 9999 – 279

56. (d) 3026 – 11 = 3015
5053 – 13 = 5040
 HCF (3015, 5040)



3015 5040

–2025 = (45×45) 

 take difference between numbers. The
HCF may be difference itself or may be

difference. (la[;kvksa dk vUrj ysaA e-l- ;k rks

la[;kvksa dk vUrj gksxk ;k ml varj dk dksbZ xq.kd)
HCF = 45

57. (a) 1657 – 6 = 1651
2037 – 5 = 2032

2037 – 1651 381 = 127 × 3
HCF = 127

58. (a) Product of two numbers

(nks la[;kvksa dk xq.kuiQy) = 1280
HCF = 8

LCM = 
1280

8
= 160

59. (d) LCM (6, 9, 15, 18) = 3 × 2 × 3 × 5 = 90
Required no. gives remainder 4 when
divided by (6, 9, 15 and 18) and zero
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remainder when divided by '7' (vHkh"V la[;k

esa 6] 9] 15 rFkk 18 ls Hkkx nsus ij 'ks"kiQy 4 izkIr gksrk

gS rFkk mlh la[;k esa 7 ls Hkkx nsus ij 'ks"kiQy 'kwU;

izkIr gksrk gSA)
90k + 4 6k + 4

=
7 7

at K = 4,  
6k + 4

7
  remainder = 0

So, number is 90K + 4 = 90 × 4 + 4 = 364
we get 364 which is the required no.

60. (b) LCM (16, 24, 30, 36)
= 8 × 2 × 3 × 5 × 3 = 720
Largest 5 digit number is 99999
divide 99999 by LCM (720)

= 
99999
720

, we get remainder = 639

So, The largest 5 digit number which
divides completely the given number is

(5 vadksa dh og vf/dre la[;k tks nh xbZ la[;k ls

foHkkftr gS)
= 99999 – 639 = 99360
required no. is 99360 + 10 = 99370

61. (b) LCM (16, 20, 24)
= 8 × 2 × 5 × 3

= 
2 × 2 × 2 × 2 × 5 × 3 × 5 × 3 

multiply by 5 × 3 to make pair
The least perfect square is (U;wure iw.kZ

oxZ gS) = 4 × 4 × 15 × 15 = 3600
62. (b) LCM (25, 50, 75) = 25 × 2 × 3 = 150

 Remainder when 43582 divided by
150
43582
150

, we get remainder = 82

 Two possiblities are (nks laHkkouk,a bl izdkj

gSa)
= 43582 – 82 = 43500

or
43582 + (150 – 82) = 43650

Nearest (fudVre) = 43650
63. (a) HCF (336, 240, 96)

336 240 96
–96 –144 

–48

HCF = 48

Stacks of English = 
336
48

 = 7

stacks of Maths = 
240
48

 = 5

stacks of Science = 
96
48

 = 2

total no. of stacks = 7 + 5 + 2 = 14

64. (a) Let numbers are (ekuk fd la[;k,a)
= 2x, 3x, 4x
given, LCM (2 × 3 × 2)x = 12x
12x = 240 (given)
x = 20
numbers are = 2 × 20 = 40
3 × 20 = 60
4 × 20 = 80
smaller is 40 (NksVh la[;k 40 gS)

65. (c) A + B = 45

A – B = 
45
9

 = 5

A = 25, B = 20
LCM (25, 20) = 5 × 5 × 4 = 100

66. (c) HCF = 17
Let numbers are (ekuk fd la[;k,¡)
= 17x, 17y
LCM = 17xy = 714 (given)
xy = 42

possible pairs are (laHkkfor tksM+s)
(1, 42), (2, 21), (3, 14), (6, 7)

possible numbers are (laHkkfor la[;k,¡)
(17, 714), (34, 357), (51, 238), (102, 119)
but given that both numbers are of three

digits (ysfdu fn;k x;k gS fd la[;k,¡ 3 vadksa dh

gSaA)
numbers are = (102, 119)
sum of numbers (la[;kvksa dk ;ksx)
= 102 + 119 = 221

67. (c) HCF = 15
Product of two numbers

(nks la[;kvksa dk xq.kuiQy) = 6300
Let numbers are 15x, 15y
15x × 15y = 6300 (given)

xy = 
6300

15×15
 = 28

possible pairs are = (1, 28), (7, 4)
Total pairs = 2
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68. (b) LCM (5, 10, 12, 15)
= 5 × 2 × 6 = 60
smallest no. divided by (5, 10, 12, 15)
leaves remainder 2 and when divided by

7 leaves no remainder is 
60K+2 4K+2

=
7 7

at k = 3, 
4K+2

7
  Remainder = 0

No. = 60K + 2 = 60 × 3 + 2 = 182
69. (c) LCM (9, 10, 15)

= 3 × 3 × 10 = 90

1936
90

, remainder  46

least number when is subtracted from
1936 which gives remainder 7 when

divided by (9, 10, 15) is (og U;wure la[;k

ftls 1936 esa ls ?kVkus ij izR;sd fLFkfr esa 7 'ks"k cpsxk

;fn mls 9] 10] 15 ls Hkkx fn;k tk,) = (46 – 7) = 39
70. (a) 18 – 5 = 13

27 – 14 = 13
36 – 23 = 13
LCM (18, 27, 36) = 9 × 2 × 3 × 2 = 108
required number = 108 – 13 = 95

71. (c) LCM (24, 32, 36, 64)
 8 × 3 × 4 × 3 × 2 = 576
required no is = 576 – 5 = 571

72. (c) Let the number are x and y

respectively (ekuk fd la[;k,a Øe'k% x rFkk y gSa)
 x : y

3 : 4 (given)
 Let 3m : 4m
 LCM = 3 × 4 × m = 240 (given)

 m = 
240
12

 = 20

numbers are = A = 3 × 20 = 60
       B = 4 × 20 = 80

least number is 60 (U;wure la[;k 60 gSA)
73. (c) Let numbers are m and n

LCM × HCF = 24 (given)
LCM × HCF = m × n
 24 = m ×n, But m – n = 2 given
so, such value is (6, 4) and greater no. = 6

74. (b) HCF = 27
Let numbers are 27x and 27y
respectively
27x + 27y = 216 given

 (x + y) = 
216
27

 = 8

only possible factors are (laHkkfor xq.kd gSa)A
= (1, 7), (3, 5)

75. (a) Let HCF = x
LCM = 12x (given)
HCF + LCM = 13x = 403

        x = 31
HCF = 31
LCM = 12 × 31

one number (igyh la[;k) = 93 given

Let other number is (ekuk fd nwljh la[;k) y
93 × y = 31 × 31 × 12

 y = 4 × 31 = 124
76. (d) Let No. are a and b

a × b = 20736
HCF = 54
we know that (a × b) = (HCF × LCM)

20736 = 54 × LCM

LCM = 
20736

54

         = 384
77. (a) 12 – 2 = 10

16 – 6 = 10
24 – 14 = 10
LCM (12, 16, 24) = 6 × 2 × 4 × 1 = 48

greatest number of four digits (4 vadksa dh

vf/dre la[;k) = 9999
when it is divided by 48 we get

remainder (tc bls 48 ls Hkkx fn;k tkrk gS rks

'ks"kiQy) = 15

 The greatest number of 4 digits which
completely divides the given number is

(4 vadksa dh og vf/dre la[;k tks nh xbZ la[;kvksa

ls iw.kZr% foHkkftr gSA)
= 9999 – 15 = 9984
number is = 9984 – 10 = 9974

78. (a) LCM (15, 20, 35)
= 5 × 3 × 4 × 7
= 420
required number = 420 + 8 = 420

79. (d) Let the numbers are = 3x, 4x
respectively
HCF = x
LCM = 3 × 4 × x = 12x
given that = HCF × LCM = x × 12x = 2028
12x2 = 2028
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x2 = 169
x = 13
sum of number = 3x + 4x = 7x
= 7x = 7 × 13 = 91

80. (c) HCF = 48
Let number are 48x & 48 y
respectively
48x + 48y = 384

(x + y) = 
384
48

 = 8

so, possible pairs of coprime no. are (lg

vHkkT; la[;kvksa ds laHkkfor tksM+s)
(1, 7), (3, 5)
numbers are (48, 336) or (144, 240)
difference between numbers is (la[;kvksa

ds chp dk varj) = 336 – 48
= 288 and 240 – 144 = 96

81. (c) Let numbers be 12x and 12y respectively
LCM = 12 xy
12xy = 1056 (given)
xy = 88
possible pairs are (1, 88) (8, 11)
possible numbers are
= (12, 1056) (96, 132)
given that one number is 132 so other is
96

82. (a) We, know that  (a × b) = (HCF and LCM)
396 × 576 = HCF × 6336
         HCF = 36

83. (d) HCF = 8
LCM = 48
One number = 24
Let other number ne = y
24y = 48 × 8
        y = 16

84. (b) HCF = 12
LCM = 336
One number = 84
Let another number be = y
84y = 12 × 336
        y = 48

85. (d) Product of number (la[;kvksa dk xq.kuiQy) =
216
HCF = 6

LCM =
216
6

 = 36

86. (a) HCF = 18
LCM = 378

One number = 54

Let another number be (ekuk vU; la[;k) = y
54y = 18 × 378

y = 
18×378

54
 = 126

87. (b) LCM (20, 28, 32, 35)
 4 × 5 × 7 × 8 = 1120
LCM = (20, 28, 32, 35) = 1120
1120 divided by 20, 28, 32, 35
completely
Let x be substracted from 5834,
5834 – x = 1120
x = 5834 – 1120 = 4714

88. (d) LCM (6, 12, 18)
LCM = 6 × 2 × 3 = 36
 To find perfect square split the LCM
into factors and make pair of factors so

that it becomes the square. (iw.kZ oxZ Kkr

djus ds fy, y-l- dks xq.ku[k.Mksa esa foHkkftr djsa vkSj

muds tksM+s cuk,a bl izdkj ;g oxZ gks tkrk gS)
 LCM = 2 × 3 × 2 × 3 = 36
2 × 2 × 3 × 3

 which is already a perfect square (tks

fd igys ls gh ,d iw.kZ oxZ gSA)
89. (c) Let numbers are = 3x & 4x respectively

LCM = 84 (given)
LCM of number = common factor

          (other factors)
= x × 3 × 4 = 12x

 12x = 84
     x = 7

numbers are = 3x = 7 × 3  = 21
          4x = 7 × 4 = 28

greater number is (cM+h la[;k gS) 28
90. (b) HCF = 12

Let numbers are 12x & 12y

respectively (ekuk fd la[;k,¡ Øe'k% 12x rFkk

12y gSA)
given that (12x + 12y) = 84

 x + y = 
84
12

 = 7

  x + y = 7
 possible factor are (laHkkfor xq.kd gSa)
     (1 + 6), (2 + 5), (3 + 4)
Total factors are 3

91. (c) HCF = 3
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Let numbers are 3x & 3y respectively

LCM  3xy = 105 (given)

 xy = 
105

3
= 35

 also given = (3x + 3y) = 36
    x + y = 12
we required sum of receprocols of

numbers (gesa la[;kvksa ds O;qRØe ds ;ksx dh

vko';drk gSA)


1 1 +y

+ =
3x 3y 3 y

x

x


12 4

=
3×35 35

92. (a) Let HCF = x
LCM = 44x
given HCF + LCM = 44x + x = 45x
45x = 1125

x = 
1125

45
 = 25

HCF = 25,
LCM = 25 × 44
 also given that one number = 25
Let another number = y
25y = 25 × 25 × 44

y = s

   = 1100
93. (c) HCF = 12

Let numbers are 12x & 12y
respectively

LCM  12xy = 924 (given)
 xy = 77
 possible pairs are
= (1 × 77) (7 × 11)
only two pairs are possible

94. (a) LCM = 520
HCF = 4
one number = 52
Let other number is = y
52y = 4 × 520
       y = 40

95. (d) HCF = 96
LCM = 1296
one number = 864
Let other number is = x
864 × x = 96 × 1296

   x = 144

96. (b) Let HCF = x
 LCM = 4x
 given HCF – LCM = 125
x + 4x = 125
x = 25
HCF = 25
LCM = 4 × 25
given one number = 100
 Let other number is = y
 100y = 25 × 100

 y = 25
97. (b) HCF = 13

Let number are 13x & 13y respectively

(ekuk fd la[;k,a Øe'k% 13x rFkk 13y gSA)
also given 13x × 13y = 2028

   13 × 13 × xy = 2028

      xy  = 
2028

13×13
 = 12

possible pairs are (laHkkfor tksM+s)
= (1, 12) (3, 4)

only two pairs are possible (dsoy nks tksM+s

laHko gSaA)
98. (d) LCM = 120 (given)

LCM is the product of one common factor
and other different factors of the given

numbers. (y-l- ,d mHk;fu"B xq.ku[k.M rFkk nh

xbZ la[;kvksa ds vU; xq.ku[k.Mksa dk xq.kuiQy gSA)
factorize the given LCM

(y-l- dk xq.ku[k.M djsa) = 120

= 
2 × 2 × 3 × 5 × 2

4(3 × 5 × 2)

= Here 4 is common factor

  (;gk¡ 4 mHk;fu"B xq.ku[k.M gSA)
(common factor is the HCF of the given

number) (mHk;fu"B xq.ku[k.M nh xbZ la[;k dk e-

l- gSA)
HCF = 4
So, for the given numbers the HCF

should be multiple of 4 (vr% nh xbZ la[;kvksa

dk e-l- 4 dk xq.kt gksuk pkfg,A)
 Hence go through options which is not
a multiple of 4 is 35

(vr% fodYiksa dks è;ku ls ns[ksa vkSj ;g irk yxk,a fd

dkSu lh la[;k 4 dk xq.kt ugha gSA)
Hence answer is 35.
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99. (d) LCM (16, 18, 20, 25)
 4 × 4 × 9 × 5 × 5 = 3600
 3600 will be completely divisible by
the given number so, 4 remainder

obtained by adding '4' in the LCM (3600

nh xbZ la[;kvksa 16] 18] 20] 25 ls iw.kZr% foHkkftr gksxh

fdUrq 'ks"kiQy 4 izkIr djus ds fy, blesa 4 tksM+k

tk,xkA)
 But it should not leave any remainder

when divided by 7 (fdUrq 7 ls Hkkx nsus ij

'ks"kiQy 'kwU; izkIr gksrk gSA)
So, given number should be


(3600k+4) 2K+4

=
7 7

2K+4
7

 at k = 5 remainder = 0

at given condition satisfy.
 No. = 3600K + 4 = 3600 × 5 + 4
= 18000 + 4 = 18004

100. (b) LCM (24, 36, 54)
 12 × 2 × 3 × 3 = 216 seconds
 They will changes imultaneously after
every 216 seconds (os izR;sd 216 lsd.M ds

i'pkr~ ,d lkFk cnysaxhA)


216
60

 3
36
60

 = 3 minute 36 second

They change 1st at 10 : 15 : 00 am
So, again they change at = 10:18:36 am

101. (b) For HCF of fractions  take HCF of
numerations and LCM of denominators

(fHkUuksa ds e-l- Kkr djus ds fy, va'kks dk e-l-

fudkysa rFkk gjksa dk y-l- fudkysaA)
HCF of 3, 5, 6 = 1
LCM of 4, 6, 7 = 84

Hence, HCF of fractions (vr% fHkUuksa dk e-l-)

= 
1
84

102. (a) LCM (200, 300, 360, 450)
 10 × 4 × 5 × 3 × 3 = 1800
seconds
 They meet at the starting point after
every 1800 seconds (os izR;sd 1800 lsd.M ds

ckn vkjafHkd fcanqvksa ij feysaxs)
103. (b) LCM (20, 30, 40)

 4 × 5 × 3 × 2 = 120 minutes


120
60

= 2 hours

They 1st bell at 11 am.
So,
the again bell after 2 hours at 11 + 2 = 1
pm.

104. (c) Cows = 945
Sheep = 2475
 For largest flocks take HCF (lcls cM+s

>q.M ds fy, e-l- fudkysa)


945 2475

–1530 

 For HCF take difference of number
HCF will either be the difference or its

factor (e-l- ds fy, la[;kvksa dk varj Kkr djsaA e-

l- ;k rks ;g varj gksxk ;k fiQj bl varj dk xq.ku[k.M

gksxkA)
 1530 = 17 × 3 × 3 × 5 × 2

    = 17 × 2 × 45
HCF = 45
Maximum animals in each flock = 45
No. of flocks of cows are

(xk; ds >q.Mksa dh la[;k)

= 
945
45

 = 21

 No. of flocks of sheep are (HksM+ksa ds >q.Mksa

dh la[;k) = 
2475
45

 = 55

Total number of flocks (dqy >q.Mksa dh la[;k)
= 21 + 55 = 76
  (45, 76)

105. (b) LCM (10, 15, 20)
 5 × 2 × 3 × 2 = 60
 Largest 4 digit number (4 vadksa dh vf/

dre la[;k) = 9999
divide 9999 by LCM of given number

(9999 esa nh xbZ la[;kvksa ds y-l- ls Hkkx nsa)
 We get remainder = 39

 So, to divide completely subtract it
from
(9999 – 39) = 9960
9960 is the largest four digit number
which is completely divided by the given
numbers (9960)

og vf/dre la[;k gS] tks nh xbZ la[;kvksa ls iw.kZr%

foHkkftr gSA
106. (c) 411 – 3 = 408

684 – 4 = 680
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821 – 5 = 816
Take HCF of given number to get

required greatest number (vHkh"V vf/dre

la[;k Kkr djus ds fy, nh xbZ la[;kvksa ds e-l- Kkr

djsaA)

408 680 816
d  1 d  2

d  3

272 136 

136 

HCF = 136
take difference of the numbers

107. (b) HCF = 5
Ratio of numbers is (3 : 4) given
So, numbers are = 15 & 20
LCM = 5 × 3 × 4 = 60

108. (d) HCF = A (given)
LCM = B
given numbers are x & y respectively

(Product of numbers is (la[;kvksa ds xq.kuiQy)
 Product of LCM × HCF)
 xy = AB
Now  A + B = x + y (given)

Take cube on both sides (nksuksa i{kksa dk ?ku

djus ij)
 (A + B)3 = (x + y)3

 A3 + B3 + 3AB (A + B)
= x3 + y3 + 3xy (x + y)
 A3 + B3 + 3xy (x + y)
= x3 + y3 + 3xy (x + y)
A3 + B3 = x3 + y3

(Put AB = xy from above)
109. (c) HCF = 44

LCM = 264
Let numbers are = x & y

given = 
2
x

 = 44

x = 88

y = 
HCF×LCM 44×264

88


x
  132

110. (c) For maximum distance covered (r; dh

xbZ vf/dre nwjh Kkr djus ds fy, y-l- fudkysaA)
LCM (63, 70, 77)
= 9 × 7 × 10 × 11 = 6930

111. (d) For greatest number divide to take HCF

ss
200 320

120 = 40 × 3 

HCF

(for HCF take difference or take factor of
difference)
HCF = 40
(for greatest number divided by take
LCM)

112. (c) HCF = (84, 90, 120)

 84 90 120
– –

– 
6 30 

24 

 6 × 4
HCF = 6
 maximum no. of books in each stack
= 6

113. (b) 729 – 9 = 720
901 – 5 = 896
HCF (720, 896)

720 896

176

  11 × 6
 HCF = 16

114. (a) HCF = 12

given ratio of numbers (la[;kvksa dk fn;k x;k

vuqikr) = A : B : C
    1 :  2 : 3

 numbers are = A = 12
B = 12 × 2 = 24
C = 12 × 3 = 36
(12, 24. 36)

115. (d) HCF = z
given ratio of the numbers = x : y
 LCM = z × x × y = xyz
LCM is the product of HCF and other

factors (e-l- rFkk vU; xq.ku[k.Mksa dk xq.kuiQy

y-l gksrk gSA)
116. (b) Let two consecutive positive even

numbers

are (2x + 2) and (2x + 4) (ekuk fd nks yxkrkj

/ukRed le la[;k,a Øe'k% (2x + 2) vkSj (2x + 4)
HCF = 2 (given)
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common (factor)
LCM = 2(x + 1) (x + 2)

      
HCF (other factors)
 LCM = 84 (given)
2 (x + 1) (x + 2) = 84
(x + 1) (x + 2) = 42
 x2 + 3x + 2 = 42
x2 + 3x + 2 – 42 = 0
x2 + 8x – 5x – 40 = 0
 x(x + 8) – 5 (x + 8) = 0
(x – 5) (x + 8) = 0
x = + 5
x = – 8
But numbers are even, so (x = 5)
Number are = 2 × 5 + 2 = 12

and      2 × 5 + 4 = 14
 sum of numbers are = 12 + 14 = 26

117. (b) P = 23. 310. 5
Q = 25 3. 7
HCF (P, Q) = (common factor of P & Q) =
23. 3

118. (a) Let fraction is y
x


 – 4 1

=
y +1 6
x

(given)

 cross multiply the equation
 6x – 24 = y + 1
    6x – y – 25 = 0 ....(i)

again, 
 + 2 1

=
y + 1 3
x

(given)

 3x + 6 = y + 1
     3x – y + 5 = 0 ....(ii)
From equation (i) and (ii)

6  – y = 25

3  – y = –5

= 10

x

x

x        

 y = 35


10 2

= =
y 35 7
x

Fraction = 
2

=
y 7
x

numerator = 2

denominator = 7
LCM (numerator, denominator)
 2 × 7 = 14

119. (b) HCF of fractional numbers is (fHkUuksa ds e-

l-)

HCF of numerator
LCM of denominator

 
  

 HCF 
2 4 6

, ,
3 5 7

 
  


HCF 2, 4, 6
LCM 3, 5, 7

 
    = 

2 2
=

3×5×7 105

120. (b) 110 – 2 = 108
128 – 2 = 126
HCF (108, 126) = 18

121. (b) For least or minimum number of canes
we should have maximum capacity

canes for required quantity (dsuksa dh U;wure

dh la[;k ds fy, gekjs ikl vf/dre {kerk ds dsu

gksus pkfg,A)
 For this we take HCF of given
quantities. (blds fy, ge nh xbZ ek=kkvksa dk e-

l- Kkr djsaxs)
HCF (21, 42, 63) = 21
Maximum capacity of a cane (,d dsu

dh vf/dre la[;k) = 21 litres

Number of canes of cow milk (xk; ds nw/

ds dsuksa dh la[;k) = 
21
21

 = 1

Number of canes of toned milk (VksUM nw/

ds dsuksa dh la[;k) = 
42
21

 = 2

Number of canes of double toned milk

(Mcy VksUM nw/ ds dsuksa dh la[;k)

= 
63
21

= 3

Total number of canes (dsuksa dh dqy la[;k)
= 1 + 2  + 3 = 6

122. (c) G.C.D. = Greatest common divisor or

Highest common factor (HCF) (e-l-)
Let G.C.D. = a
 Let number are ax and ay

(ax > ay)
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LCM = axy
 LCM = 2 × larger number
axy = 2 × ax
y = 2
also given that
 smaller number – G.C.D. (e-l) = 4

 ay – a = 4
2a – a = 4

    a = 4
G.C.D. = a = 4

y = 2
smaller number (NksVh la[;k)

= ay  2 × 4 = 8
123. (d) HCF (GCD) of a, b number is 12 and a >

b > 12 (given)
smaller value of a & b are (36, 24)

124. (a) HCF of co prime number is always 1

(vlgHkkT; la[;kvksa dk e-l- ges'kk 1 gksrk gSA)
Let numbers are = x & y respectively

Product of number (la[;kvksa dk xq.kuiQy) = xy
xy = 117 (given)
 Product of number (la[;kvksa dk xq.kuiQy)
= LCM × HCF
 LCM × 1 = 117
LCM = 117

125. (b) HCF = 12
Let numbers are 12x & 12y
Product of two number = 12x, 12y = 144xy
 144xy = 2160
 xy = 15
possible pairs are (1, 15), (3, 5), factors
should be co-prime. Two pairs are
possible.

126. (a) HCF = 27
LCM = 2079
one number = 189

given

Let another number be y (ekuk fd vU; la[;k

y gSA)
 Product of numbers = LCM × HCF
 189 × y = 27 × 2079

y = 297

127. (c) LCM (6, 7, 8, 9, 12)
LCM = 3 × 2 × 7 × 4 × 3 = 504

They will toll after every 504 seconds (os

izR;sd 504 lsd.M ds ckn ctsaxh)

128. (b) LCM of any fraction is (fdlh fHkUu dk y-l-e-)


LCM of numerator

HCF of denominator

 LCM 
2 4 5

, ,
3 9 6

 
  


LCM(2, 4, 5) 20 20

=
HCF (3, 9, 6) 3 3

 Ans.

129. (c) LCM of 6, 9, 12, 15 and 18 = 180
If 180 is divided by these given number
remainder will be 0

(;fn 180 dks bl la[;k ls Hkkx fn;k tk, rks 'ks"kiQy

'kwU; cpsxkA)
 To leave the same remainder 2
 The number will be = 180 + 2 = 182

130. (c) x6 – 1 (x2)3 – 13

Using a3 – b3 = (a – b) (a2 + b2 + ab)
 (x2 – 1) (x4 + 1 + x2 × 1)
 (x2 – 1) (x4 + 1 +x2).......(i)
Again,
x4 + 2x3 – 2x – 1
 x4 – 1 + 2x (x2 – 1)
 (x2)2 –12 + 2x(x2 – 1)
 (x2 – 1)(x2 + 1) + 2x(x2 – 1)
 (x2 – 1) (x2 + 1 + 2x) .....(ii)
 from equation (i) and (ii)
H.C.F is common term
H.C.F = (x2 – 1)


